ﬂ ‘- chia phén s6 (phén s thich hop) (phan sé khong

ding)

Tén: Ngay thang: Piém:
7.4 2 1.
35 5 3
7.4 2.5 _
8 9 g8 7
2.6 _ 5 4_
4 5 7 5
1.6_ 3 1 _
77 6 4
4.7 _ 3.6 _
36 28
7.3 _ 4 1_
8 5 37
4.3 _ 5.6
9 4 35
1.3_ 1.1
8 9 374
3.7 7.4
7 6 2 7
3.2 _ 7.1
2 3 3 3
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ﬂ chia phan sd (phan sd thich h han s khon
= p (p op) (p g

dang)
Tén: Ngay thang: Piém:
7.4 3 _,1 2. 1_6_.1
35 12 12 5 3 5 °5
8 9 132 32 8 7 20
2.6_5 5.4
4 5 12 7 5 28
1 6 1 3;1_2
77 6 6 4
4 7 8 1 3 6
3767713 278772
7.3_3»_ 1 4.1_28_,1
8 5 24 24 3 7 3 3
9 4 27 35 18 18
1.3_3 r.r_4_.1
8 9 8 3 4 3 3
76 49 2 7 8 8
3;2_9_21 7;1_7
23 4 “4 373
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